|50l 16cmd] 959 =& A= + 9 AYFUH. ol i F2
o] Zol7} 100.48 cmol ATHE 952 =2ll= A5 2 H7F =3

N

F4U7R
» = uj
> ®E 3144
Ao =2 o] Aol
100.48 + 2 = 50.24( cm) olmg

(F)+ (9] A2)=50.24 = 16 = 3.14( ¥)) LI}




o] Zole] oF 3.14 v Pt}
2152 Zo]e] oF 3.14 Hid U},

nn

~ m
0 )
NEoONE
o o

] Zo]9] oF 314 YUt

1n

i
Bt
o




n)
o
A
lo
e
N
]

TSHA 2.

>
> HE 2826cm

4 5cm

45% 2% 3.14 = 28.26( cm)




4.

Agol 80em?! et vt Ao g 8 ¥ ZFFUTh
ok ARl 2 myy7R?

> =

=

[> ®EH 20.096m

o

-{O\(

=

0.8 % 3.14 X 8 = 20.096( m)




"~--2512cm- "

>
[> HED 16cm

25.12% 2 + 3.14 = 16( cm)




FAL.

S

| 7

50.24 cm?

ul
KO

.i

4x4x3.14
50.24(cm2)

o) =

4

(




R

- E
oA 3m HE XS H

T2 A9 W2 52 3mYY T
oebA 133 @0 wele
3x3x3.14 = 28.26(m?) YUtk




8. 13L&

>
[> ®MEH: 314cm?

1
20X 20 x 3.14 x - = 314(cm?)




o] =39 2ol 188.4cm 1 WO REAE2] Aol= B emYU7F?

® 10ecm @ 15ecem @ 20cm @ 25cm (@)30(:111

(9] E4)) = 2x(Y2] ¥ 2) x3.14
188.4 = 2x (9] ¥tA]E5)x3.14
e P0] ¥ 22 188.4 + 3.14 + 2 = 30( cm) YU TH.




10. [ [t B2 5 T L.

¥IXIEo] 12em 9 U @9 AE0] 16eme) A @7 G,
A @ Holt ¥ 02 Wolrt [ Jem? Wt

\4
L
:

(¥ @2] Wol)=12 x 12 x 3.14 = 452.16 cm?

(¥ @9] Hol)= 8 x 8 x 3.14 = 200.96 cm?

webA A @7t 9 @B 452.16 — 200.96 = 251.2cm? § B
yrt.




11. 9571 56.52cm?l 9] Wol= 2 em? 4U71?

no

> E: cm

[> ®Eh: 254.34cm?

(AZ) = 56.52 + 3.14 = 18( cm)
(99] Wol) = 9x 9x3.14 = 254.34( cm?)




12.

YF7F37.68cm] Ho] lEH. o] ¥ "ol ¥ em?

\4
L
E

712

= 37.68 +3.14 + 2 = 6(cm)
= 6% 6x3.14 = 113.04( cm?)




13. =7} 10048 cm<] 4o HolE oA L

n

> £
[> ®eh: 803.84cm?

)x2 x 3.14 = 100.48( cm)

12
‘:l

—E—) 16 cm

16 x 16 x 3.14 = 803.84( cm?)




<t
AF | ¥9F | 99 4Hol

12.56 cm?

> &

> £

> HE 4em
> Hg 12.56cm

st AERE etz 2L

X 3.14 = 12.56

D

xD: 12.56 + 3.14
[]
=2

g
YF 1 4x3.14 = 12.56( cm)




-
(i
_l>~
i
rst
S
B

o {olE oA L.

TT--4em -7
[ =i cm?
> &= 4.56cm?

~&B

A 5ol 4cmQ oA HAA L] Zol7t 4em?d vHEE 2] HolE

wWLjct,
(2x2x3.14) - <4x4x%)

= 12.56 — 8 = 4.56( cm?)




16. Thg T4 AT 22| Holg AL,

—(9AZF 9] Hol)—(2e] Wol)
— (16 X 16) — (8 X 8 x 3.14) = 256 — 200.96
= 55.04(cm?)




17.

Ox3.14-0O0x3=4.2
O0x0.14 =42
0 = 30(cm)




> & cm
[> HE . 634cm
120°
100cm
' 60

=9 0 (A=) + (95 +WiE
= (100 X 3) + (100 x 3.14) + 20
= 300 + 314 + 20
= 634( cm)




19.

Y371 25.12emQl Yo WA F2] Aojet Wol7t 78.5cm? )1 A
HH2) 50 dolo] FE& FotA L

» E cm

> &HE: 9cm

@ ¥F7F25.12cm Q] Yo w1 S 1 [ ]
[ Jx2x3.14=2512

[ ]x6.28 =25.12

[ ]=2512+6.28

[]=4(cm)

@ 9] Wol7t 718.5cm? ¢l Yo HIAE : O
OxOx3.14="78.5
OxO=185+3.14

Ox0O=25

O =5(cm)

4+5=9(cm)




20. Thg AAZFR A A AT R

HolE 51419,

000

N

!

it
o
B8

| 2
[> HEH. 86cm?

[ V)

1‘,0 cm

S8
000

--40cm -~ ~

BT HE o))

—~

=40x10-5%x5x3.14x4
:400—314=86(cm2)

(AAHZFR 2] Hol) - (A 4 749 o)




